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SREHh KiFE KR B Alexandrium s Dinophysis fig&
(°C) op. D. fortii D. acuminata F DD Dinophysis
. Om 18.15 30.60
©F:1) = 1310 33.43 100 10 850 -
Om 18.16 30.48
Q@8R 5m 13.21 33.45 0 100 260 -
10m 11.85 33.64
—_ Om 1712 32.81 ~
@ ViR B 1306 33.54 30 20 380
Om 14.26 33.33
@A FE 5m 12.64 33.63 50 0 90 -
10m 12.05 33.67
®ER 10m - - 20 0 10 -
®KiR 10m - - 0 0 0 -
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FEE Alexandrium spp. (cells/L)
DR |OBFA|O-VIR|@EHIG|G&EE |OKR
1H6H 240 10 [0} 0 0 =
1H148 70 10 [0} 0 0 [0}
1H228 0 30 [0} 10 = [0}
1H278 0 [0} (0] 0 - (o]
2H3H8 0 10 [0} 0 0 [0}
28108 50 10 [0} (0] 0 [0}
28178 1,430 20 0 0 = [0])
2H25H8 20 [0} (0] 0 [0} (o]
3H2H 6,340 40 0 0 0 [0}
3H9H 670 50 0 0 — —
38168 2,920 0 20 0 — 420
38238 3,810 30 70 10 10 [0
38308 2,140 20 0 0 0 0
4878 280 130 160 50 0 0
4815H]| 10,940 150 30 0 0 -
48218 6,030 300 20 50 = =
4827H| 41,130 370 250 70 20 700
587H| 23,760 1,310 790 950 - -
58128 9,230 510 1,900 230 - 50
58148
5818H 710 2,350 680 1,920 —-| 66,240
58258 60 130 210 3,930 170 [0}
6818 100 0 30 50 20 [0}
e D. fortii (cells/L)
DR (OBFH|@O- VIR |@EHK|GEE |©OXKIR
1H6H 0 0 0 0 0 =
1H148 0] 0 [0} 0 0 [0}
1H228 0 0 [0} 0 = [0])
1H278 [0} [0} (0] 0 - (o]
2H3H8 0 0 [0} 0 0 [0}
28108 0 0 [0} 0 0 [0}
28178 0 0 0 0 = [0])
282580 0 0 0 0 [0} (0]
3H2H 0 0 [0} 0 0 [0}
3H9H 0 0 [0} 0 0 [0}
38168 0 0 0 0 = [0])
3H23H 0 [0} (0] 0 [0} (o]
38308 0 0 [0} 0 0 [0}
4878 0 0 [0} 0 0 [0}
48158 0 0 [0} 0 0 (0]
48218 (0] 0 [0} 0 - -
48278 0 0 [0} 0 = [0}
5878 0 0 0 0 = =
58128 0 0 [0]) 10 = 120
5H148
58188 0 30 680 40 = [0}
58258 0 0 90 160 0 380
6818 10 100 20 0 0 0
m=Ea D. acuminata (cells/L)
OEET (OB FH|O= VIR | @& HK|GEE |©OXKIR
1H6H 0 0 [0} 0 0 =
1H148 50 0 [0} 0 0 [0}
1H228 50 0 0 10 = [0])
18278 40 20 (0] 0 - (o]
2H3H8 550 0 [0} 0 0 [0}
28108 350 200 [0} 0 0 [0}
28178 250 0 [0} 0 = [0])
2H25H8 70 10 0 0 - [0}
3H2H 700 0 [0} 0 = [0}
3H9H 390 0 [0} 0 = =
38168 10 10 [0 0 = [0])
3H23H 440 [0} (0] 0 [0} (0]
38308 100 0 [0} 0 0 [0}
4878 20 0 [0} 0 0 [0}
48158 970 10 [0} 0] 0 -
48218 240 0 0 0 - -
48278 100 260 380 90 10 [0}
5878 130 0 0 0 = =
58128 200 10 [0 0 = [0])
5H148
58188 1,030 60 20 40 = =
58258 140 40 80 260 10 160
6818 850 260 380 90 10 0
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